Switch multiple selection structure

The general form of the switch statement is:

switch (expression){


case constant1:


statement sequence


break;


case constant2:


statement sequence


break;


case constant3:


statement sequence


break;


.


.


.


default:


statement sequence

}

For example:

cin >> day;

switch ( day ) {       // switch for current day

         case 1:

            cout << "first";

            break;

         case 2:

            cout << "second";

            break;

         case 3:

            cout << "third";

            break;

         case 4:

            cout << "fourth";

            break;

         case 5:

            cout << "fifth";

            break;

         case 6:

            cout << "sixth";

            break;

         case 7:

            cout << "seventh";

            break;

      }

Example 1. Write a program that shows the name of a month based on user’s input. For example, 

If the input is 10 the output should be “This is the month of October”

Example 2. Write a program that prompts the user to enter two operands and an operator(*, /, + or -).

Depending on the operator chosen appropriate arithmetic operation should be performed.

Example 3. Write a program that lets the user enter an arbitrary number of grades as A, B, C, D, E, or F. Your program should count the totals for each grade entered.

It is possible to have more than one case share the same statement

b) Write a program that lets the user enter an arbitrary number of grades as A, B, C, D, E, or F. Your program should count total number of students who passed (A,B,C,D) and  total number of students who failed (E or F).

